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No. of Questions/9¥] &1 H¥&AT : 100
No. of Pages for Questions/S&il & T & Her : 27

Time : 2—%— Hours ] [ Full Marks : 300

w9y 21 §2] [ yorfa : 300

Note: (1) This question booklet contains 100 (hundred) questions in all
(30 in Section — A and 70 in Section ~ B). Attempt as many questions
as you can. Each question carries 3 marks. One mark will be
deducted for each incorrect answer.

Zero mark will be awarded for each unattempted question.

T UeH-gRkr 3§ gt 100 (B) 99 2 (@vs — o § 30 T @ — 9 % 70) |
s gel BT T FA BT YIS IR | WD T 3 3 B ¥ 4P
NTT GIX @ Y v FH HIET A TAG ARG T D1 WD
¥ B |

(2) If more than one alternative answer seem to be approximate to the

correct answer, choose the closest one.

afe teIfe dafous vox ¥é 9% @ fiwe & @ Miecoy 9 s <)
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1.

SECTION - A
TUs - H

First Education Minister of free India was:

(1) J. P. Naik (2) Maulana Azad

(3) K. L. Srimali (4) Vijaya Laxmi Pandit
WIS IRA B woH w654 e o 7

(1) o dlo AOS® (2) |reTr IR

(3) Po Yoo AR (4) fasrg wesf dfeq

Which of the following is not a Central University ?
(1) H.N. Bahuguna University Garhwal, Sri Nagar
(2) Allahabad University, Allahabad

(3) Pt. Ravi Shankar Shukla Raipur University

(4) Guru Ghasidas University, Bilaspur

ey 3§ @ B B Reafieem 7878 ?

(1) o o FZYON Teata fawafaerery, AR

(2) soTEmER favafaened, soEEe

(3) Ho =M wiaR Yol AR fawafemery

(4) 7o arfEN fYvafdenerd, fAamage

The latest National Curriculum Framework by NCERT came into existence in :

Tdo Mo Fo ARo o FRT MR N 1¥ AW TR UIGUBA B ORET &
T A ang ?

(1) 2000 (2) 2004 (3) 2005 (4) 2008
National Knowledge Commission was headed by :

(1) Prof. Yash Pal (2) Kapil Sibbal

(3) Sam Pitroda (4) Prof. ].S. Rajput

ASET S MRBT &1 [T B o ?

(1) N/ JIATA (2) e RyEe

(3) &9 fugrr (4) MBI o Yo oI
(2)
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9. Which of the following is not correct in reference to 'Right to Education Bill' ?

(1) Every child between the ages of 6 to 14 years has the right to free and
compulsory education.

(2) Private schools shall admit at least 25% of the children in their schools
without any fee.

(3) Fundamental right to education has been brought through 96th Constitution
Amendment Act.

(4) The national commission for elementary education shall be constituted to
monitor all aspects of elementary education.

R @1 R ftae & e § e § 7 w@ T e ?
(1) 6F 1499 & 9% Ioid o Fgew ©F afard Ben &1 sfder 2
(2) wrgde Remerm $9 A $9 25% = @ Ao fawnadl 4 frges we 3
(3) fRren & Aifors ¥R 31 964 widar daem 3w g1 YHfREa e =)
(4) TRMT RET 3 T W B AR kY g I omi @ e
Y |
6. Article 46 of the Indian Constitution protects the educational interest of :
(1) Religious and Linguistic Minorities
(2) Women and Girl Children
(3) Scheduled Castes and Scheduled Tribes
(4) Special need Children
g e Y awr 46 A # @ 5w o @ e Rl A e FR R 2
(1) enffie =0 AN STTHED
(2) wfgsn ga wiferer
(3) gl Sty aef srpRfyE St
(4) faftre smavgaar g s1e®

7. Enriched programmes are useful for :

(1) Slow learners (2) Gifted children

(3) Learning disabled children (4) Deprived children
wfEHa SRIHA STAET B €

(1) #= sedae & fog (2) wfermaE s=at & fog
(3) s sfem st & forg (4 dfaa geai & fog

(3) P.T.O.
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8. India's first Open University is located at :

10.

11.

(1) Hyderabad (2) Chennai (Madras)

(3) New Delhi (4) Kota

IRA B wagem ot frvafderay @& Rem 8 7

(1) t<ER (2) ¥E (FETE)

(3) - fieeh (4) P

Who has initiated pre-primary education in India ?

(1) East India Company (2) Christian Missionaries
(3) Raja Ram Mohan Roy (4) Gopal Krishna Gokhale
ara ¥ qd-wefiE R o gwama fea o ot ?

(1) = sheT v 4 (2) $urd foemiRat 4

(3) RToTT XA G A (4) U FOT M A
"Taxshila’ was centre of Education during ;

(1) Vedic period (2) British period

(3) Buddhist period (4) Medieval period
aeer o Fre o Bwrn o1 % o ¥

(1) P Pl A @) fafea w1 §

(3) 95 @ H (4) PRem T A

According to you, a good teacher should be :
(1) highly intelligent

(2) having genuine interest in his students

(3) living a simple life

{4) having mastery over subject he teaches
IS TR UFH 30 Rmere @1 @ g afeg ?
(1) af ey g

(2) IR BTA A W= B ¥

(3) WRA ofte delt @

(4) o Tgr 9= T Ry # gof 3@ &

(4)



12.

13.

14,

MSEB/104/19(Set)
Good teaching is best reflected by :
(1) pin-drop silence in the class
(2) high attendance of students in the class
(3) large number of distinctions in the subject amongst students
(4) meaningful questions asked by the students
3D ey &7 watm wda w2 ?
(1) @& § vy g 8
(2) wen 7 Rl @ e den d suRefd
(3) 3w fawg ¥ fenli # ade den § Al e RRE<am) wa
(4) Bt grr aedgot ye ge

The main objective of classroom teaching should be :
(1) to help students pass examination

(2) to feed information of students

(3) to develop personality of students

(4) to make inquiring mind of students

we Ruwgvr o7 Y vy @ g Afey ?
(1) orE B e Il FRY § GEIRT YA
(2) BrEl B WEPR T BT

(3) oEl @ Whgw = Rera &=

(4) o1E o oy g7

As a teacher why would you ask questions from students during teaching ?
(1) To know whether students are carefully listening you

(2) To know whether students understanding it properly

(3) To know who is the brightest student

(4) To help the students

S s & WU d Reor & RE 3 ue @G gu e ?
(1) 75 srM @ fog & el amrigde e g9 @ @
(2) TE w1 ® fog & fRorll o 0@ fo-do v w ¢
(3) g WA @ faw f& we el faeneft a= 2

(4) BA B FETAT T TG

(5) P.T.O.
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13.

16.

17.

Which teacher will you appreciate most ?

(1) Who knows the problems of students and helps them

(2) Who has strict control over his students

(3) Who is very friendly with students

(4) Who has a charming personality

e e a1 v waw SATET TR B 7

(1) 95 < RefRfal @ et @ aasar 2 R SS9 ¥ag oRar ©
(2) T8 it Renfial ® et gz w8

(3) T8 W BEl ¥ fmEd @I9sR vEdr B

(4) T8 ST Ip¥e Wfdd arer 2

The most important challenge before a school teacher is :
(1) To maintain discipline in the classroom

(2) To design good question paper

(3) To make teaching-learning process enjoyable

(4) To make students do their home work

% REmed Rue @ fog wed yeagel gh @ gef ?
(1) wan # qemae wenfia e

(2) 3D UH-UF BT AT HRAT

(3) fRrerr ey wfthar & rT_uS T4

(4) Renf¥al & [Eed HamH

Effective teaching by and large is a function of :

(1) Teacher's honesty

(2) Teacher's scholarship

(3) Teacher's making students learn and understand
(4) Teacher's liking for the teaching job

wardY Rerer Araean f&ws aikemy & ?

(1) e o amgrR

) Rwrw @ Rga

(3) firre &1 Renfial wf fa 1§ I9s@ o 9% g9
4) Rwrm &1 rer a9 & ofg =w /30

(6)



18.

19.

20.

MSEB/104/19(Set-1)
Which of the following should be most important for a good teacher in class ?

(1) Classroom discipline (2) Subject being taught
(3) Time available fot teaching {4) Students of the class
el ¥ e e ® fow frer # W wewel @ @9 @iy ?

(1) FENHE B FTRTHA (2) Rwg St ugrar 9 @I @
(3) vER & folv U™ 99g (4) FET ® B

Which of the following teachers will you like most ?
(1) A disciplined teacher
(2} A teacher who often gives class notes

(3) A teacher with high level of knowledge

(4) A loving teacher with effective teaching skills
a1 Rt § 9§ 50 w99 At ga= a3 ?
(1) v srqanfee e

(2) v U e ot urr wen § e oo 8

(3) T Rure e o9 959 WR & 519 &

@) wrdt RemorFhrel | & & dgsd Rers

Development of moral values among students is very important. What would
you do to develop the same ?

(1) Display stories based on moral values
(2) Present your-self as a role model
(3) Encourage moral values related works

(4) Organize lectures related to moral values
Bl # Afte It o1 R 9gd Tl 21 9o [Reg & forg amm @ & ?
(1) =frF gea R amaRa sl &1 weebr &3
(2) AM-INT Pt 7B IS WAN F B T IRy BT
(3) M Tt & walm Tt B e 8
(4) e g | defua el a1 i w0
(7) P.T.0.
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21.

22.

23.

24,

25.

A person starts from his house and walks 100 meters straight towards South,
takes a left turn and walks 75 meters straight towards East. How far is he from
the starting point ?

(1) 175 meters {2) 125 meters (3) 100 meters {4) 25 meters

U AT o TR W <fler fww F 100 Hex en o §) v T geek we Rw
N 3R 75 Mex Wt gorm 21 98 I WA e Q@ w2 ?

(1) 175 frew (2) 125 #ex (3) 100 e (4) 25 #rex

Anand is older than Shashank but younger than Rohan, Dhanashree is younger
than Seema but older than Rajshree. If Rajshree is older than Shashank, who
amongst them is the oldest ?

(1) Rohan (2) Seema

(3) Dhanashree (4) Can not be determined

WY U § 4 F q9I 8, O Ve @ O ¥ o @ Qv 2 g worsh
T B IR ol e W a9 R, A 79 e oW ¥ waw gs1 o £ ?

(1) W& (2) <

(3) g=sht (4) =TE uar Ay ST e

Five boys are sittings in a row. A is on the right of B. E is on the left of B but he
is on the right of C. A is on the left of D. Who sits first from the left ?

U ed To U F R 21 A, BD IR 2 E, B 9 &, afhy C & =Ry ¥
ADTTR TN AT s A a1 2 7
(1) D () C 3) A (4) B

Which one number can be placed at the sign of interrogation ?

yEaES g (7) @ WM W B9- G 9 o wed) € ?

5] 6 | 5
1339
8 |22
20]7 |13
M 1 @) 4 3 6 @ 7

If X' means 'sum’; -’ means 'division'; + means 'subtraction’' and '+ means
'multiplication’ then which of the following equation is correct ?

I X BT AT WE' B, B WGHE HET R, + @1 AOGE CHSHT ¥ qer '+ @
Hoee o 2, a9 e ¥ e eieve g8 2 ?

(1) 16+5-10x4+3=9 (2) 16-5x10+4+3=12

(3) 16 +5+10x4-3=9 (4) 16x5+10+4-3=19

(8)



26.

27.

28.

29.
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In a certain code R + S' means R is brother of S, 'R — S’ means R is mother of S
and R X §' means R is the father of 5. Which of the following means G is the
nephew of H in that code ?

fFfiae o d R+SH AR :RSHAE R, 'R-S &1 af §: R, S wrr 8
aer RxS'amaef 2 R Sar o ) 99 & @ 59 og @ ofuR faraar oed 2 &
G, H &1 wdiom & ?

(1) G+KxH (2} GxH +K 3) H+K+G (4) H+KxG

From the given alternative words, find the word which can not be formed using
the letters of the given word : ESTABLISHMENT

QA v v B fdwai & P W Ry @ e ESTABLISHMENT @& 3&Ri 9
F& g1 W 9w &

(1) MENTAL (2) SHAME (3) ESSENCE (4) ESTATE

Harish ranks 16th from the top in a class of 49 students. What is his rank from
the bottom ?

(1) 34th (2) 33rd (3) 24th (4) 36th
49 faenfofal & wen & 09 & FWR F 1691 WA 2| A J SHDT T @I B ?
(1) 344t (2) 33at (3) 244t (4) 36dt

My brother is 562 days older than me, while my sister is 75 weeks older to him.
If my sister was born on Tuesday, on which day was I born ?

(1) Wednesday  (2) Tuesday (3) Monday (4) Sunday

W WS T 562 faF a9 & wafes A 9w Sud 75 99w g & R W 9w
e BT 4y g8 &, @  few R der g ?

(1) TR (2) HTAER (3) AER (4) ¥fER
ABDH is related to ZYWS in the same way as EFHL is related to :

ABDH o vk ZYWS ¥ Hefug & S wer EFHL fraw wefa 2 7
(1) VOSU (2) VUSO (3) USOV (4) TUSV

(9) P.T.O.
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3t.

32.

33.

34.

35.

SECTION-B
Gug—«

x-1_y-2_z-3 x-2_y-3 z—4iS_
3 4 '

3 4 5
x~1 y-2 z-3 x-2 y-3 z-4
et ; =y3 == ,’.‘3 =-"'4 =5 % dra Ao g8 2

The shortest distance between the lines

1 o @ 1 @) 2 4) 3
¥y =xhas:

(1) one asymptote (2) two asymptotes

(3) three asymptotes (4) no asymptote

Y =x AT B

(1) TP Fraeadt (2) < Tty

(3) A sm=reafRit (4) PIF I TB

If G is a cyclic group of order 30, then the total number of subgroups is :
I T GYE G o D 308, O SuwEl A T 8

(1) 8 (2) 6 3 9 4) 5
Gj drdy | :
-‘.0 Tiay? is equal to:
g 1+x2 dx dy % .
‘{0 1+x2 +y T
(1) nlog(l+ﬁ) (2) glog(1+ﬁ) (3) -;Elog(1+~/§) 4) glog(1+«f§)
r/2 vsin x . .
Io g gy dxis equal to:
/2 Jsinx .
J'U Vsinx +vcosx dx TS
rt n rc
= 2 5 @ 3 @

(10)



36.

37.

38.

39.
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The envelope of the family of straight lines y = m'2x+—-1-i~ is:
m

(1) circle (2) ellipse (3) parabola (4) hyperbola

e Yl = mix 4 B B BT I ¥
m

(1) g9 (2) g (3) @™ (4) sftaRae™

The sequence f defined by f (1) = n has :

(1) one limit point (2) two limit points
(3) three limit points {4) no limit point
f(n) =n g1 uRMNT o f <@ R

(1) v 4 g (2) & 4 fag

(3) @ @ fag @) @ @ famg

The radius of curvature of the curve s = ¢ tan ¥ is equal to :

TF s =ctan y B o g row | T

(1) ccosecy (2) csec® y (3) csec® vy (4) ctan® vy

A function f (x, y) is homogeneous of degree 3in y, if :
T Wer f(x,y),y W 3 A P wHER €, 9

O fAx=Nflxy,Ar>0
2 fOx AN =2flx,y)A>0
@) fr Ay =2 flxy,A>0
@ fFOx A=A (xy)A>0

(11)

P.T.O.
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40. Consider the statements :
(I) Derivability at a point = Continuity at the point
(I} Continuity at a point = Derivability at the point
then statement :

(1) (I) and (II) both are correct

(2) (1) is correct but (II) is not correct

(3) () is not correct but (II) is correct

(4) (D) and (II) both are incorrect

fore weFt W fER B

() & g R sEepaEa = 949 Rg ® 9o
(I) fl famg W W = 99 fAg R sgaaiuar
T A

(1) (@) T () Q= v §

(2) (I)\ & dem () 35 €

(3) (I) 3Rieg 2 ger () & &

(4) (D) @er (I <F1 s/ €

41. If the vectors Ai+]+2k,i+Aj—k and 2i -] are coplanar then the value of A is :
afy wfew Af+j+2k, f+Aj -k R 27U & wnadd HE, A AD AE ©

(1) —-51,; @) —% 3) % (4).§

42. Thevalueof [axi|?+|axi[> +|axk? if |aj=11is:
|axiZ+]axiP+|axk & 99 AT |a]=1 T :

1) 1 (2) 2 (3) 5 (4) 7
(12)



46.

47.

z=(A+3)+i v5-22 , then the locus of z is :

MSEB/104/19(Set«l)

(1) circle (2) ellipse (3) straightline  (4) parabola
Gfe z=(h +3) +i ¥5-2% T z &1 faguy 2 :

1) ga (2) drdga (3) wRe @ (1) wawg
Ifiz? +22-z+i=0,then |z] =

TR i+ -z +i=0,d |z| =

1)1 2 3 (3) 6 4 %
The radius of the circle zz-(2+3i)z-(2-31)z+9=0 is:

T 22—(2+31)2—(2-31)z+9=0 TT sEferq 2 :

1) 2 (@) 3 3) 5 4) 7

The sequence f where f (n) = (-1)"is :

(1) monotonically increasing (2) monotonically decreasing
(3) not convergent {4) has no limit point
WP f W f(n) = (-1)" & :

(1) volex gfgwy sgpm (2) velie sy IR

(3) IHary g & (4) dmr =g 81 7

If the series £ Un, in which every term is positive be convergent, then £ Un?is :

(1) divergent (2) convergent

(3) neither convergent nor divergent  (4) oscillatory

afy At T Un, s vd® U8 gaiers &, I &, @ ZUn® ®

(1) roary (2) AR
(3) 7 A SR 9 mEny (4) =

(13)

P.T.O.
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48.

49.

50.

51.

52.

The value of determinant :

ES IR
1 3 4 121
2 1 21%x13 1 2
5 3 3 1 3 5
is:
HHE B
(1) 250 (2) —247 (3) 287
2 3] 4
WhenA-[1 4],A =
2 3]
GTQ'A_[I 4-,A =
4 3] 3 2 7 -2
b 5 5 5 5 5
(5 3 @33 ORI
5 5 5 10 5 5
8 -6 2
The characteristic roots of the matrix| -6 7 -4] are:
2 -4 3
8 -6 2
WHE (-6 7 —4|® AHmEE 94 §
2 -4 3
(1) 0,3,15 (2) 1,7, 0 3) 0,1,2

(4) 229

(4)

m|weon |

|
mlmm|,_"

(4) 5,0,7

The radius of the cirdle : x + 2y +2z =15, 2+ +2* -2y -4z =111is:

J x4+ 2 +22=15, 2 + P + 27— 2y~ 4z = 11 &1 SnfT4 B

(1) 5 (2) V7 (3) V11
The equations to the x-axis are :
x-e P FHIERT &

x_Y¥Y_2 x_¥_z X_¥_z2
(1)011 (2)110 (3)100

4) 5/9

- | e



53.

54,

55.

57.
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Which one of the following cones does not have three mutually perpendicular
generator-lines ?

A TRER EE SR B A ¥ i ffafen § @ B W 8 7

(1) ¥ +22-32%=0 (2) yz+zx+xy=0
(3) -2/ +32°=0 (4) 222+ 37 -522=0
The equation of catenary is :

RSHIH T THIBT T

(1) y=ccoty (2) s=csecy

(3) Y¥=F-+¢ (4) y:ccosh%

The singular solution of y = px + 2is:
P

y=px+-§ﬁﬁﬁﬂ'\’3ﬁ%i

(1) y=cx+% Q) VP =4ax
(3) y=csecx @ yP=A-2
dy X 1

The integrating factor of the differential equation —=+ is:

y‘:
dx 1+x27  2x(1+x%)

dy x 1
ATHe GAER L+ = ®T GATGE [OF B
dx  1+x2 s 2x(1+ x2)

(1) 1/(1-3:2) (2) 1}(1+x2) (3) log (1 +x%) (4) 1/(1+2x2)

. . . dzy dy dy 2 .
Thedegree and order of the differential equation —-+2x—=+,/1+| =={ =0 is:
dx dx dx
(1) 2and 2 {2) 1and 2 (3) 2and 4 4) 1and 1

2 2
ATPA GHIGRT M+2x55+ 1+-‘£'i =0 ¥ U 3R ;e & :
de dx dx

(1) 28iR2 (2) 1:3R2 (3) 23R4 (4) 13R1
(15) P.T.O.
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59.

61.

If the differential equation of a family of curves is [( x, y,%] =0, the differential
equation of the orthogonal trajectory is :

FfE R a5 aRaR &1 JqHA FHBHIT [(x,y,%)wa‘r,a‘tmaﬁﬂﬂquﬁ
BT IEHA THHI 8

@ fxu=2)-0 @ ;(x,y,:g-]w &) /{x,y,;—;J=U @ f{xyxt]=0

The chord of curvature through the origin of a curve is:

o a5 @ o 9@ g & @ arel ot 2
(1) Isin¢ (2) 2Isiné (3) Psing (4) Isin’¢

Expansion of tan™'x in powers of x is :

tan’lx F x @ Tl A Rwr &
3 5 3 5
X X X
(1) x—-—a—“i"—-g—— ............. (2) x-—é—-!—+—§T~ .............
2 3 ' 3 5
X X X X
@) 1=Z5 457~ e (@) x+ieadog
N : . . 2
The particular integral of the differential equation -3 +5 o 6y =e“" is:
X
. 2
HTEFA AHHIT ;——2—+5:i-;+6y=e w1 faf¥re warae -
X
1 o2 1 2 1 2x 1 2«
— — 3) — 4) —e
T @ % ® 5 @ 5

In the Taylor's expansion of f (@ + h) in ascending integral powers of h, the
Lagrange's form of the remainder is :

fa+h) T SR @& YER § h & 930 §Y OFT § AUH B THR & U9 ¥ ¢

1) Eﬂ-f"(a+9h),0<9<1 2) b (1-0)""1 f"(a+6h),0<0 <1
n! (n-1)!
L h" u

(3) -———-—-—-p(n_l)! fM(a+08h),0<0 <1 (4) " ffa+0h),0<0 <1

(16)
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If u=sin

2,2
S22y , then x-ia£+yé‘-=
x+ ax

Ife u= m'lw— | x-—-—+yi‘-

e
(1) cosu (2) sinu (3) tanu {4) cotu
If x = - =2y
x=rcos®,y=rsinf, then J(x,y)= 3.6)
= Hxy) _
I x=rcosO,y=rsin®B, M J(x,y)= %0
) r @ 2 @ & @ 7
r r

1/2
Prove that * lim = tanx
n-»0 (ex _1)9/2

Fet AT : lim S tANE
n—0 (¥ .—1)/2
(1) 0 2 ¥ 31 4) 2

The maximum or minimum value of # = x> +y? + Z whenx + y +z =3ais:
u=x2+y? + 22 B ARG T YA A @D x+y +2=3a%:

(1) 34 (2) 6a® (3) 84 (4) 94

If 4, b are elements of a group G, then (a b)™! =

o2 g, b R T G P omma &, @ (@b) ! =

1) ﬁ @) alb @) btal @) a/b

If G is a cyclic group of order 13, then the number of generators of G is :

o G T o § AR SR P 138, o G T o W ¥
(1) 1 (2) 2 (3) 12 4) 6

(17) P.T.O.
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69. The number of disjoint cycles in the permutation

70.

71.

72.

73.

123 4567 809
f=[ ]13:

2 4617 3859

123456789
24617 3859

1 3 (2) 5 (3) 4 4) 6

m—ﬂuf:[ ]ﬁaﬂgwmaﬁm%}:

Let R™*" be the collection of all m x n real matrices with usual matrix operation,
then the dimension of R"*" over R is :

"N forr R™ %" oy wane & JIRTIT m x n AAdd ARGE B P WUT B, A
R™™" @ famm & - '

(1) m+n (2) m (3) n (4) mn

Let G={[i i] |xe R,x;eo} , let multiplication in G be multiplication of 2 x 2
matrices. Then the identity element of G is:

A form G={E j|xeR,x¢o} G % HES 2 x 2 e H PEEA 8, 1 G
1 5FTY Hag9 €

11 10 01
o [; ] @ ;5] € @ o of

Let it be a subgroup of a group of order 12. Then all possible orders of H are :

= forar H t@ wig Rrrad 9ife 12 8 &7 0 SUE 81 99 H @ W 9=g $ife
g

[ NI
MR =

(1) 1,612 () 1,2,3,4,6,12 (3) 1,12 () 2,3,4,6
The order of a group G is 19. Then :

(1) G may not be Abelian (2) G may not be cyclic

(3) Gis Abelian but not cyclic (4) Giscyclic

TH G5 G & If 198 99 ¢

(1) G ardiferm =€ & e (2) GUs =hrg W TEl §

(3) G3dferaa 2 Afd ah wE) @) G=ha g
(18)
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74. Let for a natural number n, Z,, be afield. Then:

75.

76.

(1) n may be any natural number (2) nmust be a prime
(3) n must be an even number (4) nmustbel

" forn va yrefos wem 'n' @ ol Z,, @ &% el

(1) 'n’' o wHphre T=7 8 (2) 'n'Wrgq B

(3) 'n’ TP wW T B 4) n’'1%

The Kronecker deltas are components of a mixed tensor of order :

FRER Socel Ua AR yrad @ Gyg g forae |ife &

(1) 2 (2) 3 3) 4 4) 6

The time period of S.H.M. of intensity p and amplitude a is equal to :
L Al Td g EHIE B Xl Idad A BT QoAADI a¥EY BRI B

1 2n 9 2n
()—JEJE ()_JE“

2r 2 2n
3) — 4y ==
® F Y &

A body is moving with a uniform speed v in a circle of radius r. The radial
acceleration of the body is:

2
(1) 2 towards the centre (2) vT towards the centre
r

2
(3) Y _ away from the centre (4) zero
; y

o fie, r ofema & g ® yeeaE T o 9 e 2 s 31 e @rer §

(1)§$aa?raﬂ-\r (2)3;%.’&31‘&

(3)%%@%%3&@? (4) T

(19) P.T.O.
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78.

79.

80.

A bullet of mass m moving with velocity u strikes a block of mass M which is
free to move in the direction of motion of the bullet and is embedded in it. Loss
of K E.=

(1) M (initial energy) (2) M (initial energy)
m+ M M+m
2
(3) Mzi\’; - (initial energy) 4) M;i 3 (initial energy)

T R om W W N M A D [EH A 4 T Q@ THREA 2 AR W |
RN ¥ Tedr @ TR A R NN A R d R wfew S A ' =

M M2

(D — (aRfeTE S ) Y (IRfeE )
2M M2

(3) o (=R Sel) @ .7 (e Ha)

Maximum velocity of a particle m a rectilinear simple harmonic motion of time
period T and amplitudea is:

TH &Y (o O Y31y 9 Imad e e amaddre T od o™ a0 8, § Wifame
21 B B flemaw afy &

1) 2raT ) -Z—T’f—“ 3) -2%5 @) aT

If the radial and transverse velocities of a particle are always proportional to
each other, the path is :

(1) equiangular spiral (2) circle

(3) ellipse (4) parabola

I v o1 @ Body vd sy A TH-gE B wErEE # € A @ B vy 2
(1) wAmFIfre after @) I

(3) <rigw (4) RIeg

(20)
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When each member of a population has an equal chance of being selected in the
sample, this may be termed as :

(1) A nonrandom sampling method  (2) A quota sampling

(3) A snowball sampling (4) A simple random sampling

o2 P WY BT U0 WaW WRARE § ¥ WM A THuEH geiee I @, O 59
%% HHa § ¢

(1) sFagfes yReas faf (2) & wier yireaw

(3) v S e (4) TF O agles wfragT

Which of the following is the most efficient random sampling technique known
toyou?

(1) Simple random sampling {2) Proportional stratified sampling
(3) Cluster random sampling (4) Systematic sampling

sy T Prefafe 3§ - agfios wiass (Y we@ s g B 2 7
(1) & agfes ufega (2) Iprarht wRa wfaaa

(3) T ugfes gieA (4) e aitvaua

Ratio method is most appropriate when :

(1) Relationship between X and Y is linear and passes through the origin

(2) Relationship between X and Y is linear but does not pass through the origin
(3) Relationship between X and Y is non-linear but passes through the origin
(4) X and Yare having no specific relationship

orpart RfY T urar o ® el

(1) X3R Y3 9 vy Wy & @ e g 9§ e R

2) X3R YD e wrrg Wi & W @ g e T TR

(3) XalR Y3 9iu g W6E 7 8w e R A fi R R

(4) X3 Y fiu o fiftre waw 1 A

Which of the following statements is not correct for the randomized block
design ?

(1) Every block is randomized separately from every other block.

{2) Every treatment must appear at least once in every block.

(3) Blocking is used to remove the effects of another factor (not of interest) from
the comparison of the levels of the primary factor.

(4) Block should contain experimental units that are as different as possible
from each other.

(21) P.T.O.



MSEB/104/19(Set—1)

85.

To agfediga avs afwer & ford Prafafe § s vouw we 7@ 8 ?
(1) TRF TS T TR WS W I W A ArgRodipa Rl o 8|
(2) IR SUEAR W G § B W FH @ IR e arfed |

(3) R &1 I g e @ WR @ gern § g e R s T 8),
@ YT B ge B ford g 2

(4) Gve B =i el 9e wE B W TE-g ¥ B wafie gesat @
ey |

A new headache remedy was given to a group of 25 persons who had
headaches. Four hours after taking the new remedy, 20 of the subjects reported
that their headaches had disappeared. From this information you conclude :

(1) That the remedy is effective for the treatment of headaches

(2) Nothing, because the sample size is too small

(3) Nothing, because there is no control group for the comparison
(4) That the new treatment is better than an existing treatment

wed A O 25 Al @ UF WYE @1 wRed @ o ue W ol & Wit =i
Ay B A B IR Gve gwER 20 AT N qomEr % SEET wReE W 8 T R
9 o § e freed 8@

(1) fF el Tved & SR § wardl @

(2) o7 &, FifF g MHR g7 BT §

(3) 77 T, wife gern @ Rl P P wie e 8
(4) & a1 SER U faeme SuaR 9§ et 8

Histogram can be used for the purpose of :
(1) Getting an idea about the density of a continuous random variable
(2) Getting an idea about the density of a discrete random variable

(3) Getting an idea about the density of either discrete or continuous random
variable

(4) Nothing except a pictorial representation

(22)
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MSEB/104/19(Set-}
TR &1 {69 I & (o1 SuIT 81 et 8 7
(1) 7o 900 =R @ I @ IR A THGR WIS B 5G
(2) TH JTET TR B A B IR H B W P 'Y

(3) % I O Had A IJAT W D GAQ DGR H BN YT FRA B

(4) & fam freuw & oA {9 a8

If the correlation between body weight and annual income were high and
positive, we could conclude that :

(1) High income people tend to be heavier than low-income people, on average
(2) High income causes people to eat more food

(3) Low income causes people to eat less food

(4) High income people tend to spend a greater proportion of their income on
food than low-income people, on an average

Ife MR B 9v7 @ affe s @ v vEwey afde 19 v 8, 9 89 ey
Ul &Y qPhd &

(1) S=z g ot 91 g 991 9 ias 9 g 2
(2) S I AN B TART WS A & (F RS &
(3) A 3 Mt @ w9 AIeH B T F GRS 8

(4) Seg e ot 97 g A B AN DY AN W AYAT Y BT SATET AFT AT A
Y PR B

For children between the ages of 18 months and 29 months, there is
approximately a linear relationship between "height” and "age". The relationship
can be represented by : Y= 64.93 + 0.63(X), where Y represents height (in
centimeters) and X represents age (in months). Vivek is 22,5 months old and is
80 centimeters tall. What is Vivek's approximate residual ?

18 912 U9 29 g & sedl o SR @ Mg B 9" FE-eAg (b Wy T 2|
Y =64.93 + 0.63(X), X1 = & Aad fhar S GHAT 8, W8l Y Sarg ([FEHeR
Y), td X3y (e H) wad weal 8| Qde 22,5 98 B 2 7@ SHET qor 80 AHIR
8| faw ®1 amT afie @ g ?

1) 79.1 ) +0.9 (3) 0.9 4) 64.93

(23) P.T.O.
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89. The best way to recognize whether or not a variable is growing exponentially

9.

over time is by :
(1) Plotting the variable against time and looking for a straight-line pattern

(2) Calculating the least squares regression line of the variable against time and
examining the residuals

(3) Plotting the logarithm of the variable against time and looking for a straight
line pattern

(4) Smoothing the scatter plot by median trace

TS W P 9N B WY Oy fwn € semn T8 39 o w0 @7 6ed 38T R

¥

(1) =R ¥ 979 & 94 5T s @@ v W sfasa e

(2) W9 B WNE AL BT YT T AP W BT FEA 0G I@lde A it
AT

(3) WU B AN W P AYTUB U TR F P O &g yfey

(4) wfeasT smeres § ffRw s &1 ggHeT

The probability that a River will flood in any given year has been estimated
from 200 years of historical data to be one in four. This means :

(1) The River will flood every four year

(2} In the next 100 years, the River will flood exactly 25 times

(3) In the last 100 years, the River flooded exactly 25 times

(4) In the next 100 years, the River will flood about 25 times

200 a9 B Wl s & AR R @ 70 A el R ad § ¢ @ I @
witsd & § AR Hform B vl & guwr A ?

(1) v IR 99 § 74 § @ig Iy

(2) s 100 a9 # 7 # P 25 aR w16 Ay

(3) o 10099 # 9 ¥ diw 25 IR TI@ oA o

(4) 3Tt 100 987 B IR A8 ¥ FA9 25 IR W@ AN

A random sample of 15 people is taken from a population in which 40% favour
a particular political stand. What is the probability that exactly 6 individuals in
the sample favour this political stand ?

40% T T vurfaw giednr a8 W v s 4 ot @1 P W@
ufaew formr war 4 3HS Widmw = Bft @ uley ¥ O 6 wfdd = Wik

gfiepr & gaer & ?

(1) 0.2066 (2) 0.5000 (3) 0.0041 (4) 0.4000
(24)
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Marks on a Chemistry test follow a normal distribution with a mean of 65 and a
standard deviation of 12. Approximately what percentage of the students has
scores below 50 7

GRS B TH GHEv ¥ WAi® 65 g U4 12 A fAges qre qrrg g 2|
faraf¥ai &1 #99 @91 Wi 50 ¥ FH WwE &l 8 7

(1) 18% (2) 89% 3) 15% 4) N%
A random variable Y has the following distribution :
Y : -1 0 1 2
P(Y) : 3C 2C 0.4 0.1
The value of the constant C is
o Ww = Y et de v @
Y : -1 0 1 2
P(Y) : 3C 2C 0.4 0.1
Pragie C &1 &= 28rn e
(1) 0.10 (2) 0.15 (3) 0.20 4) 0.25

Each person in a random sample of males and females was asked to state
his/her sex and preferred colour. The resulting frequencies are shown below :

Sex Colour
Red Blue Green
Male 3 11 16
Female 17 11 2

Which of the following is False ?

(1) 55% of males prefer the colour blue

(2) Of those who prefer the colour green, 75% are males
(3) 44% of people surveyed prefer the colour blue

(4) 15% of people are males who prefer the colour red

(26) P.T.O.
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95.

o T st B e @ aRied § e afi @ wed RiT @ G @ st
o T | uRom gyl A & ¥

& 37

GG e B
il 3 11 16
Afder 17 11 2

frefafaa & ofF-ar gRyof & ?

(1) 55% 9oy NS 1 &) gdaar ) &

(2) ST ot & 1 &7 ar | €, 75% IV §

(3) 3T fHFA T 44% WAnT A 1 B TR < §
(4) 15% o7 9o & O o ¥ B I 2 B

The level of significance in hypothesis testing is the probability of :
(1) Not rejecting a true null hypothesis

(2) Rejecting a true null hypothesis

(3) Not rejecting a false null hypothesis

(4) Could be any of the above, depending on the situation
TRST TheT # ARiedr wN fhaant wifear 8 ?

(1) ¥ Rew WRFemT B IRADR 9 T B

(2) ¥ Raa aRETTT 37 SRABR HF B

(3) Toa Rag WRFAT B IR T 7 B

(4) Rufy #) T g3 TRad § BE A

If ¥ denotes the sample mean based on a random sample of size n from Poisson
(6), the maximum likelihood estimators of 8 and exp(- 6%) are :

(1) x and exp(-%)

2 x

(3) X and exp(-%?)

(4) Maximum likelihood estimators cannot be obtained based on the given
information

(26)
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TrrEt (0) ¥ 7 PR & (W Ve wed ® s afy ¥ ufrest mer el 2, @
0 U3 exp(- &%) T HETT WA AHAS BN :

(1) ¥ Wexp(-%)

(2) x

(3) ¥ Wexp(-7?

(@) A ) quT F MR W AT T JIPEE U T8 A1 o s

A 95% confidence interval for a population mean [u] shows the values 25.1 and
28.3. What is the appropriate conclusion ?

(1) 95% of all sample means ¥ should be between 25.1 and 28.3
(2) 95% of the time the population mean {u] will be within this interval : 5% of
the time it will be outside of this interval

(3) Since 95% of all confidence intervals contain the population mean [u], we
are 95% confident that this interval includes the population mean

(4) None of the above answers is perfectly correct

iy g (4] & ) Ue 95% A i 25.1 ok 28.3 W <wiar @) efw
frd®T 2 ?

(1) & uftreet wrg #1 95% WRT 25.1 U9 28.3 @@= B -Af@d
(2) W AEY [u] 95% B TG G FONIA F B : 5% TH AT D AR BN

@) 4% i fEm e B 95% W W [u] B wfaia wyar 8w
95% fiftea & f% a5 ImRe a9y wEg P wfied B

(4) S ¥ P IR Plaar v T8 8

If the price and quantity factors in the price index formula be interchanged so
that a quantity index formula is obtained, then the product of these two indices
should give the value index. This is called:

(1) Time reversal test (2) Factor reversal test

(3) Homogeneity test (4) Circular test

T EHE G ¥ IR I Od A Ot B e A 5 A ol @ gEeie
A 9IS B 6P D 39 QA GBI B P df GIASiH M| gHH hEd
(1) w5g aRa i odeor (2) orE eREdr e

(3) [T W (4) Tig wEm

(27) P.T.O.
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99.

100.

Mention the correct one :

(1) A moving average with a properly selected period will smooth out cyclical
fluctuations from the series and gives an estimate of trend

(2) A moving average with a properly selected period will smooth out cyclical
fluctuations from the series but fails to provide an estimate of trend

(3) By cydlical fluctuation we mean a periodic movement in time series where
period is less than a year

(4) Trend may be measured from a time series before eliminating the seasonal
and the cyclical fluctuations

& gE e gy -

(1) T& SR YPR | T T IR el TRAE S AR & a sferar o
1 TR M AR vgRY B e HIM

@) & 3P TER | A T IR qrar e e ot § wea aleRa
T IR A g YR B A FW F R & s

(3) Ty sfewar ¥ & B AN § welE Ay 1 A Toer @ SEfe e
TH o W BB

@) & P Ao AR Td e aReRar @ se 9 uEA WRT @ " o
aPa §

For comparing the fertility situations of two regions or same region at two
different times, the best measure that is used is :

(1) Crude birth rate (2) Age-specific fertility rate

(3) Total fertility rate (4) General fertility rate

A & W T A AT P Q) wRaieN @ woma Rl @ geer @ ford wden
YgR A9 §

(1) R¥PHT A= & (2) sy fafre ye = W

(3) HHA WO T (4) WM WO R

(28)



srafifa & fag fdwr

(&8 GRS & WM ITRV-YS R G STR-UA & A U6l | Bad A wred! Feaze 97 R ) )

1.

7.

8.

10.

11.

12.
13.
14.

7 gRaTET e & 10 e @ oar € Sw o &y § 9l 7w dise @ ok @i
v ger T8 2| gRaE AvYEw U IM R FES GEl aoora @ e @ Qe

el JETuA B T GRAIPT W 3R o |

. T HaE W forereT ¥f@a yavyd @ o, o @ wer B8 o Yot BT Wiy F

q A |
SER-UA AT | far w1 3@ 7 o A9 v 7 & Rwa w1 guwr woegy 7@
e w1 P9 vav-uF o7 8 qouTHT [HAr S

. AU FYHH® TYT GAYA BT HAF A7 HMIvOLyo 7 97 @ fRuiRa o w

fored |

. IU-YT @ FIT 6 y¥ 97 W J97 srgmaie [EiRa verT ov ford aer 7 @l gal

B MeT BY T OIEl-E WIeIgw § I8l FET-YRABT BT HAE TUT WS B THEY
9faa ety ford

. 3o THo IRo U WX IFFHHAG W], We-YRGHT WA 9 we wWem (@] i ) e

TeH-JRAHT TR SFIFHIS HeEA SR 3o [Ho 3Re UH Wl 1 wiafeal § guRead o
A =TEl 2

Suge wlafedl § B A R v Fgs gr wlE g =iy srger 9%
IR AR BT WART AFT SRR |

T-gRdT ¥ ude Ie @ IR Jaferd S RA A ¥ | e T @ defeqd wuv @
for} st STy @ aRfa ufdw @ W f@d T g9 @ ST @ AYT §% WY
& i Adet & sgar 97 | wer sear 2

AT T B TR P R B9el @ & g7 B M1 W W@ W ARS gul B Mg e

U AT TF G B 7G0T AR R q€ SN o HHT SR |

s & & o §ie i g7 dfFa Saw gger 7T o7 wear €/ e a9 e yew
o o7 FE @91 grEd € o =g i @ wee 32 W o g1l @ el vl d
W W W I 3@ 3y @i

W e & o 3 gRaw & Tugs @ SR T g dun sfqw @l e @
N |

T B SR FE-GRABT ¥7 TOe-gF T8 HaT F WH R < |

G A BN @ ugd uder 999 ¥ e’ OR @) sgAfy T8 gl

afy o avaeft wlen ¥ sfm wnEl @ wEN Fwar 8, @ 98 Realerey g MR
<3 &1 /F Arft g /e
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